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Ray Triangle Intersection Example

v, = (4, 4,-2)

v, = (6,0,-2)
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Ray (1)




Triangle (u,v)




Ray (t)z Start+t-Direction=v,+u-e,+v-e,=Triangle (u , V)



Ray (t)z Start+t-Direction=v,+u-e,+v-e,=Triangle (u , V)

Ray (1)

+1-

=Triangle (u,v)



Ray (t)z Start+t-Direction=v,+u-e,+v-e,=Triangle (u , V)

Ray(t)z 1 [+¢ 1 =Triangle(u,v)
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/_1 1 —2\ /u\ /—3\
6 2 —=1/llvI|=| 3
=1 =5 0 /1) =2

This 1s the system of linear equations we are solving.
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S=|1 P=[1|X[ 2 |=| 10
|1 \O) \=3) \ 3
5 ) =1} (-5
D=1 P=| 6 || 10 |=062
\0) L3

62>~( —» Ray is not parallel nor approaching
from the back!
We can continue!
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p=|’ 3\ /(s
0 3 110
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62 62

~(0<(0.63<] —» We can continue!
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\1) 2] |-1] |-15
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D=|1 (2\( 0 \
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~(0<(0.27<] — We can continue!
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1
|1/ 17,39_56 _ 1 o0
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D=1
\0)

~0<0.90<]1 — We can continue!
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D=|1 62

~(0<1.32 —» We can continue!
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/2\ /V é; ~8§3
D=1 -
\O/ \t/ 29 \ 1.32/

System 1s solved!
Return ¢ or find the hit point and return that.
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